P(z/s1)=1/[(((2()]e^[1/2*(x-a/()2] VYKON: Px= 1/T*((x2(t)dt,0,T); PSD=Gx(f); Px=((Gx(f)df,(); Autokr: Rx(()=1/T*((x(t)x(t+()dt,0,T) ENERG: Ex= ((x2(t)dt,0,T); ESD=(x(f)=|X(f)|2; Ex=(((x(f)df,(); Autokr: Rx(()=((x(t)x(t+()dt,() AWGN: C=2Wk=W*log2(1+S/N) [bit/s]; ML,MAP: P(s1/z)= [P(s1)p(z/s1)]/p(z)<>P(s2/z); ML: p(z/s1)<>p(z/s2); MAP: z<>(2/(a2-a1)*ln [p(s1)/p(s2)]+(a1+a2)/2; SpriahF-H(f): E(z/s1)= E((s1(t)z(t)dt,0,T)= E((s12(t)dt,0,T); Pb=Q([a1-a2]/2() a a1*1/(Es1; Komplementárna chyb. fun. Q(x)= 1/((2()*((exp(-u^2/2)du, x, () Pb= P(s1)P(ch/s1)+P(s2)P(ch/s2) =P(s1)*((p(z/s1)dz,-(,()....= P(s1){1-Q([(-a1]/()}+P(s2)Q([(-a2]/() Konvolucia spriah filtra: z(t)=((r(()*n(t-()d(, 0,t); z(k)=((cn*r(k-n),n=0,N) Schwarzova nerovnosr: |(f1(x)f2(x)dx|^2 <= (|f1|^2*(|f2|^2; (S/N)T <= 2E/No; R((-T)=(s(t)s(t+()dt, -(,() Stochastic. Proces: Stredna hod: nj=({nj}=({((n(t)(j(t)dt,0,T)}; Celkovy normaliz vykon: (j^2=({nj^2}-nj^2; Rn(t,s)=({n(t)n(s)} =Rn(() (=t-s; Rn(()=F^-1{Gn(f)}; Rn(()=((Gn(f)*exp(j2(f()df,-(,(); Rn(()=((No/2*exp(j2(f()df,-(,() =No/2*((() GR-SM: (k(t)=dk(t)/(Ek; dk(t)=sk(t)-({cik*(i(t), i=1, k-1}; cik=({sk(t)*(i(t)dt, -(,(}ZFT: si(t)=((aij*(j(t), j=1,N); aij=1/Kj*((si(t)*(j(t),0,T); Def: (((i(t)(j(t),0,T)=Kj*(jk; (jk=1 ak j=k inak 0; 0(t(T; j=1,..,N; ROLLoff: log2 M = S; r =vp/S; B=r/2=Wo; (=(W-Wo)/Wo ISI: H(f)=1, cos^2[(/4*(|f|+W-2Wo)/(W-Wo)], 0 ak |f|(2Wo-W, 2Wo-W<|f|<W, |f|>W; P.ch. detek: Pe=Q(d/(2*(o)); (o=((No/2) 

CHYBA: BPNRZ:BPSK: Q(([2Eb/No])= Q(([Ed/2No] UPNRZ: Q(([Eb/No]) KBFSK: (fmin=1n/(2T); Q(([Eb/No]) NKBFSK: (fmin=1k/T; ½*exp(-Eb/No) KBDPSK: Koherentná detekcia- odstráni neurčitosť vo fáze, pomocou PLL; 2Q{((2Eb/No)*[1-Q((2Eb/No)]} NKBDPSK: ½*exp(-1/2*Eb/No) PeM: KMPSK: Pe(M)=2Q(([2Es/No]*sin (/M); Eb/No= k*Es/No; MDPSK: 2Q(([2Es/No]*sin (/{M*(2}); Pb=1/k*Pe; KMFSK: Pe(M)<(M-1)/2*exp(-Es/{2*No}); (M-1)*Q((Es/No) NKMFSK: Pe(M)= 1/M*exp(-Es/No)* ({(-1)^j*(M nad j)*exp(Es/j*No), j=2, M} Pb=(M/2)/(M-1)*Pe Q(x): x>3: Q(x)=(1/x(2()*exp(-x2/2) Energia: Ed=([s1(t)-s2(t)]2dt; Eb=P(s1)*Es1+P(s2)*Es2; Es1=(s12(t)dt 
